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Select multiple choice answers with a cross or tick:

  Only select one answer

  Can select multiple answers

Question 1 of 55

Which one of the following shows six million and fifty thousand?

A) 6 000 050

B) 6 000 500

C) 6 005 000

D) 6 050 000

Question 2 of 55

What is the value of the digit 8 in 1 980 524?

A) 80

B) 800

C) 8000

D) 80 000

Question 3 of 55

Wha is the missing value in 27÷___ = 0.27?

A) 1

B) 10

C) 100

D) 1 000
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Question 4 of 55

Janani has 5 pens and 2 erasers in her pencil case. What is the ratio of the number of pens
to the number of erasers?

A) 2:5

B) 5:2

C) 2:7

D) 5:7

Question 5 of 55

A) 15

B) 17

C) 32

D) 148
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Question 6 of 55

A) 20

B) 30

C) 60

D) 120

Question 7 of 55

A) 5cm2

B) 7cm2

C) 10cm2

D) 15cm2
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Question 8 of 55

2 litres of fruit juice was shared by 16 children. How many litres of fruit juice would each child
receive?

A)

B)

C)

D)

Question 9 of 55

A) 20%

B) 50%

C) 40%

D) 60%

Question 10 of 55

Ahmad scored an average of 74 marks for two tests. He scored 70 marks in his first test.
How many marks did he score in his second test?

A) 66

B) 72

C) 74

D) 78
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Question 11 of 55

Mrs Sim bought a 2.15kg bag of sugar. At the end of 5 days, she used up all the sugar. She
used an equal amount of sugar each day. How much sugar did she use each day?

A) 0.43kg

B) 0.403kg

C) 4.03kg

D) 4.30kg

Question 12 of 55

A)

B)

C)

D)

Question 13 of 55

A) 1120kg

B) 1500kg

C) 1570kg

D) 2200kg
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Question 14 of 55

The number of fifty cent coins that Patricia has is twice the number of one dollar coins. The
total value of all the coins is $120. How many fifty cent coins does she have?

A) 40

B) 60

C) 80

D) 120

Question 15 of 55

A) 187.5cm3

B) 500cm3

C) 562.5cm3

D) 750cm3

Question 16 of 55

Question 17 of 55

What is the remainder when 7102 is divided by 7?
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Question 18 of 55

Question 19 of 55
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Question 20 of 55

Question 21 of 55

Question 22 of 55
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Question 23 of 55

Question 24 of 55

Mr Lim is 40 years old now. His son is 4 years younger than him. What will be their
combined age three years later?
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Question 25 of 55

Please type "done" to proceed to the next question

Question 26 of 55

Mr Menon bought a sofa set which cost $1200 before a GST of 7%. What was the amount of
GST that he had to pay for the sofa set?
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Question 28 of 55

Question 29 of 55
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Please type "done" to proceed to the next question 
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Question 32 of 55

Question 33 of 55

Eason has 3 cards, each with a different whole number printed on it. When he multiplies 2
numbers at a time, he gets the answer 24, 48, and 72. What is the answer when he
multiplies all 3 number on the cards together?

Question 34 of 55
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Question 35 of 55



a) Triangle BCD is an equilateral triangle 

A) True

B) False

C) Not possible to tell

Question 36 of 55

Angel BAC = Angel CDB

A) True

B) False 

C) Not possible to tell

Question 37 of 55
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Question 38 of 55

Question 39 of 55

Liling has 200 pencils and Sharon has some pens. After Sharon has given 52 pens to Liling,
the ratio of the number of pencils and pens Liling has to the number of pens Sharon has is
4:1.



a) What was the total number of pens and pencils Liling had in the end?
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Question 40 of 55

b) What was the total number of pens and pencils Liling and Sharon had?

Question 41 of 55
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Question 43 of 55

Question 44 of 55

b) How many of such cups were filled completely? 

Question 45 of 55

A box of cookies cost $3. A free box of cookies was given for every purchase of 3 boxes of
cookies. Don spent $240 buying some boxes of cookies.



a) How many boxes of cookies did Don buy?
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Question 46 of 55

b) There were 12 cookies in each box. Don opened all the boxes and repacked the cookies
into containers. There were 9 cookies in each container. How many containers did he use to
pack all the cookies?

Question 47 of 55

Minah bought some books at an average price of $22 each. Then she bought another 2
books for $46 each and the average price become $28. How many books did she buy
altogether?

Question 48 of 55

Question 49 of 55

b) How many of the coins in the end were 50 cents coins?
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Question 50 of 55

Question 51 of 55

b) Inclusive of 7% of GST, how much did Weiming pay for the items? Give your answer
correct to the nearest dollar?



2 ptsPrimary 5 Maths (Term 4)

2 ptsPrimary 5 Maths (Term 4)

Question 52 of 55

Question 53 of 55

b) How much data did Alynna use in all if she had to pay $25.50 for the data charges?
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Question 54 of 55

Question 55 of 55

b) What was the total number of hours he had worked from Monday to Friday?


